
MAKE: STYLE:

45

WARNING: NEVER EXCEED YOUR VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY 

WEIGHT CARRYING:

   INSTALLATION TIPS:

   INSTALLATION REQUIRES:

   VEHICLE PHOTO:

REPRESENTATIVE PHOTO 

HITCH ILLUSTRATION:

   MAKE SURE YOUR HITCH MATCHES

   LEVEL OF DIFFICULTY: MODERATE

EASY MODERATE CHALLENGING

 1.  BEFORE YOU BEGIN INSTALLATION, READ ALL
 INSTRUCTIONS THOROUGHLY.

 2.  TO EASE INSTALLATION, 2 PEOPLE MAY BE
 REQUIRED.

 3.  USING PROPER TOOLS WILL GREATLY IMPROVE
 THE QUALITY OF THE INSTALL AND REDUCE THE

     TIME REQUIRED.

Safety glasses should be 
worn at all times while
installing this product.

YEARS: 2015 LAND ROVER MODEL: RANGE ROVER SPORT SUV

8,000
800

TRAILER WEIGHT:
TONGUE WEIGHT:

13243 INSTALLATION INSTRUCTIONS

LBS.
LBS.

90 MIN.
MIN.   PRO INSTALL TIME:

   NOVICE INSTALL TIME:

IF YOU  ARE  HESITANT  TO UNDERTAKE
THIS TASK ON YOUR OWN, CONTACT AN AUTHORIZED

CURT INSTALLER FOR ADDITIONAL ASSISTANCE.

SOCKET

10mm
15/16

SAFETY
GLASSES

TORQUE
WRENCH

SCREW
DRIVER ROTARY TOOL

NO DRILLING

TRIMMING REQUIRED
BOXED

END WRENCH
15/16

RATCHET

http://www.carid.com/curt/


INSTALLATION WALKTHROUGH:

Parts List
DESCRIPTIONPART NUMBERQTYITEM

HEX BOLTM12-1.75 x 30mm41

CONICAL TOOTHED WASHER1/2"42

HEX BOLT5/8-11 x 513

FLAT WASHER9/16 WASHER14

HEX FLANGE NUT5/8-1115

VEHICLE CROSS
SUPPORT

REAR
BUMPER
BEAM

EXISTING
WELDNUTS
(BOTH SIDES)

1

2

3

4

5

1. Remove upper panel cover secured by (2)
quarter turn fasteners. Remove lower panel
cover by removing the (4) screws using a 10mm
socket and phillips screwdriver. Save for
reinstallation in Step 5.

2. Raise hitch over exhaust and into position and
loosely secure hitch with (4) M12 bolts and
conical washers. Slide flat washers into position
then 5/8" bolt through washer, bumper beam,
and hitch securing with hex flange nut.



INSTALLATION WALKTHROUGH:

4.50 in 1.00 in

3. Torque M12 bolts to 79 ft-lbs, and 5/8" bolt
to 180 ft-lbs.

4. Trim lower panel cover using diagrams below
for reference.

5. Reinstall upper and lower panel covers
removed in Step 1.

5.50 in 6.50 in

USE CONTOUR
AS GUIDE

USE CONTOUR
AS GUIDE





GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH:                LBS. TRAILER WEIGHT &             LBS. TONGUE WEIGHT.
 

WARNING: ALL NON-TRAILER LOADS APPLIED TO THIS PRODUCT MUST BE SUPPORTED BY 18050 STABILIZING STRAPS.

WARNING: ** FAILURE TO PROPERLY SUPPORT NON-TRAILER LOADS WILL VOID PRODUCT WARRANTY **

WARNING: *** DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY *** 

HITCH WEIGHT:         LBS.

INSTALL TIME

  PROFESSIONAL:        MINUTES

  NOVICE (DIY):         MINUTES

INSTALL NOTES:

INSTALLATION STEPS

PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND.

8,000 800

33

45

LAND ROVER RANGE ROVER SPORT13243

90

Parts List
DESCRIPTIONPART NUMBERQTYITEM

HEX BOLTM12-1.75 x 30mm41
CONICAL TOOTHED WASHER1/2"42
HEX BOLT5/8-11 x 513
FLAT WASHER9/16 WASHER14
HEX FLANGE NUT5/8-1115

1. Remove upper panel cover secured by (2) quarter turn fasteners. Remove lower panel cover by removing the (4)
screws using a 10mm socket and phillips screwdriver. Save for reinstallation in Step 5.

2. Raise hitch over exhaust and into position and loosely secure hitch with (4) M12 bolts and conical washers.
Slide flat washer into position then 5/8" bolt through washer, bumper beam, and hitch securing with hex flange nut.

3. Torque M12 bolts to 79 ft-lbs, and 5/8" bolt to 180 ft-lbs.

4. Trim lower panel cover using diagram above for reference.

5. Reinstall upper and lower panel covers removed in Step 1.

- No drilling
- Fascia trimming required

VEHICLE CROSS SUPPORT

REAR BUMPER
BEAM

2

1

3

4

5

EXISTING WELDNUTS
(BOTH SIDES)

4.50 in
6.50 in

1.00 in

5.50 in

USE CONTOURS AS GUIDES

TOOLS REQUIRED
SAFETY GLASSES

10mm & 15/16 SOCKETS
15/16 WRENCH

RATCHET
FLAT & PHILLIPS SCREW DRIVER

TORQUE WRENCH
ROTARY TOOL

Learn more about trailer hitches and towing we have.

https://www.carid.com/trailer-hitches.html

	13243-INS C
	13243-INS BW

